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2) (11 marks: 1/2 mark per error spotted, 1/2 mark per correct explanation) The following Java class is stored in a file called "Test2.java". Circle the Errors and explain what is wrong in the space provided. Note that a mark will be deducted for each wrong answer.  Note that errors are all syntactic.

Explanation of problems:

Java is case-sensitive.  Many of the problems below are caused by the wrong case being used.  In these situations, the explanation will simply state “case-sensitivity” and the correction will be in the next column.
	Original program – mistakes are in red
	Problem
	Correction

	Public class test2 // this is the second question{
	1 – Case sensitivity

2 – class name must be same as file name

3 – { has been commented out
	1 – public
2 – Test2

3 – put { on next line


	public static double SEVEN = 7.0;
	
	

	public static int another-val = 5;
	- is an operator, not a valid character for an identifier.
	another​_val


	public static final int fval = 5;


	
	

	public static void main(string args[]){


	Case sensitivity
	String

	booleen changer = true;


	Spelling mistake
	boolean

	int value = 5;


	
	

	if(changer != !true){


	
	

	value = value + 1;


	
	

	system.out.println(value + seven);}


	Case sensitivity
	1 – System

2 - SEVEN

	else switch(value){


	
	

	case fval; System.out.println("Here\n’);


	1 - Syntax error

2 – String not closed
	1 - :
2 – “

	break;


	
	

	defaull:break;}


	Spelling mistake
	default

	}}}

	Too many closing }
	Remove one of the }



